Bl ' £ (Af#®)

20ES 3159 B & |LEHTS Y KRR TE
BEHREE |5 5 7 |RETERESTH7 7 EL
AHL#ITE  FFI6ESH29H 09KF30%
B (GRE) 1. LB SEAL (o) 1S ey
B2 1005 () 101-fB L ¥ 5
BEEMEL-EET, ZELOABEETH S, 12,727,000 12,727, 000
RIEHRLCER TR
10, 481, 665H
EaLEL s #2H s
YFREE B = = =
# 3B
BEEZE (%) 11, 570, 000 M H
% #
AEEE ) = = =
# E
RETE B = = =
o 38
TEEZ B = M =
# B
FER ) = = =
# B
) IAEE = = m
2 8
XEEZ B = m =
w8
B EATEE = = =
# 3B
FREE ) = = =
# B
FAEE ) = = =
# B
AREE 5 = = =
2 8
FEREE B = = =
#
= = =
H M H
= = =




] = & (AfL#&)
ZHEE 3160 “ & |BEi1 TETFTKEERMRIE
SIE#IRMSE |4 1B [EmER TR
AHL#ITE  FF6ESH29H 09KF30%
EALGRE) (L. ARLEICREB ST AL GRE) s F & fli4%
SEEICHLLEEDI005DI10IZHET 2
BWEMELE-SET., FELOALMERTH S, 10, 373, 066/ 11, 544, 500/
5 15 PR He 8 i
9, 426, 640M
E1m E2MH =3
EaEES ® i s
BEX (&%) 9,434 480H = E
(B) LA 9,434, 410M = =
(%) AFIE =] = =]
# B
AEMHESR () =] =] =]
F
(W) ALFIHE 9, 434, 430 = =
(%) BB 10, 285, 000M = =
ntE (%) 9, 430, 060/ = =
& AL
(%) BA 9, 434, 430 = =
ERIE B = A =
Z®
(B) WA RE = = =
# B
%) XA =] =) =)
¥ B
(B) AFEA 9, 430, 690 =] =
(&) PR 10, 285, 100M = =
=) = =)
= = =
=] = =]




i3] B z (A&
LMES (1159 # & |REEATEEFIEKEREIS
BIESIRAER |5 1% O |EEmALIL4sTEE,SHR
ARBMITE SHM6ESH298 0985309
SEFL GRS kL, ARLZBICREEIN: AL GRE) B4 FE @K
SHCEHYLEOIN,DI0IZHYT S
HWEMELI-SHET. 2BLOALLEETH S, 11,142, 014/ 12. 466, 300M
B 15 %I FR b 8 f 4%
10,129, 1049
% 1[@ F2[E ®3E
EREER $#E
A (B 11, 333, 0004 H A
B LE (%) = =] =
# B
AFKE (&) = =] =
s/
(B) ABKEILE =] = 7]
s o
(%) #HLL 10,129, 104H M A
PEHAEZ (%) = = =
# R
B XA | = =
i B
(F) REAEKEILER = =) =
i R
RipERm (B) =] = A
i# &
=& (K) A =] =
# B
(k) e 10, 138, 500 =] |
A ¥79tX 10, 129, 1048 =] ]
%= Al
TR (%) 10, 129, 167M =] =]
A =] M
[ =] ]
2] A ]

2ERENI=. HHEAEBTIEICTROIBOREZEML, KD LB Y HMRRE




BEFCHE

2 el - f 10129104 814 £ HI065F08 288 118539530780

BERHRS 09010800000120240104
RERGET AFI4TRENRKERRTH
fEEE S BEE&2
BAfLIATT B8 L0608 H29H 0965595
[TwE = aF= - w— — _E g8 8 b
| HREER 2

LESAEE 1040
‘ LERES 0
| 1 FHIER o [ 10,129,104 378 4 HI06408 238 15655857411 419
| = 621



